 Puptls should, be taught o Year 3

e Add rumbers i
o Atlwx\ee;-dlgAbnumber\ond;one&(WS 8)
o A three~digit number and tens (2.9 + 50)

. o A three~digih number and, hundreds (38| + (.O0)
+  Estimate the answer to- o caleulation and, use inverse, operations to check answers
\ e
/Add;’dw7 v two jumps: jumps to- 80 (+ L).

) @

then to- 83 (+ 3). +10 +10 +10 +4 +3
their fingers i | | L
46 56 66 76 BO B3
\
/Inhodlm’dw ejxpondfd columrv additiony methodi 236
In order to- carny oub this method, of addition: * 73 .
Childrerv need to- r\ecogmse’d\e walue oaﬂthe hundreds. | o 2
tens ands ones without r\eco(\dmg the partitioning. 2 O O
\Pupil&need;tobeabletoadd;tmcolwm 3 049
[.87+5L.6=
Th&wnotaddngwoolumn&and;ﬂwﬂg’wdllshﬂ: 500+ L0+ 6
need to add, the total mentally or using other methods: +100+80+ 7
900 + 120 + 13 -1033
Remind pupd&’dw actual
(" Moo to the compact columry acdition, method Add ons. e valie s dhree tens adh
Children who- are; very secure and, confident; with 3-digit SZNAZV L
e/xpandedoolwmaddihmsho&dd;bemoved}ontoﬂ\e 536 seven. |
) the, fireh time, Camzy numbers '_'_ 73
carrying for the firsh time. o the + 73
B . I
ar modelling: o st s oot e e o e el s ks 1t 155 a0 ol
’ ’ 155
86 69
| sally's cards Cards

\_

M . L What do you notice? \
uv addlilonl - See Is there a relationship between the calculations?
P

500+400= |523+400= |523+28=
NCETM web&ib[:O{\moreejxarnplw 400+500= |423+500= |423+28=

300+600= |323+600= |323+28=

200+700= |223+700= |223+28=

100+800= | 123+800= 123+48= /




examples where no- exchanging is required. 80 + 9
-30+5
50+4

ﬂTEP 2 introduce .excchanging Uu\oughp:ﬂrbstubh\adLm Maket}wLangﬂ\numbenuﬁﬂhBos@@,ﬂﬁm\
subtrach .7 fromy i

oSubtr\actnumber\s«mmtﬂllg/mduding/
» A three~digit number and, ones
» A three-digit number and, tens
» A three-digit number and, hundreds
R » Subtract numbers with up to- three digits, using formals written, methods of column subtrachion
» Estimate the answer to- @ caleulations and, use the, irwerse, operation to check answers
complenc subtraction
STEP I introduce this method, with 89 - 35 = 54

¥

they carv use the, Partitioned, Column, Method, to subtrach any, 2

and 3-digib numbersi k-
' n 760 +'30 + 8
Subhﬂabﬂg/wawhhm 'l00+~£;.0+-6

into- exq £1 + 30p + 8p 0+ 90 +

LTEP30mpupbmmwtﬂvﬂwwndusiﬂndmg/o‘chdwngmg 2[3[8]-1[kle=lq]2

Dich she hawe, left? | v ]

NCETM N Fof\ Flo does the calculation 62 + 43. Jim does the calculation 62-43.

Who is correct?

Explain how you know.

Pupils might demonstrate using a bar model to explain their reasoning.

Bo:\nwdfihng/
Sally had 100 sweets ands game SO to- Rose. how many 100 | ‘ s ‘

M . . Flo and Jim are answering a problem:
Uv wbb OCtLO V- See Danny has read 62 pages of the class book, Jack has read 43. How many more
pages has Danny read than Jack?




TR Year 3

o Recall; and use: multiplication facts forthe 3. . and, 8 times tables
to writkery methods.
oSolmepmblmsmdudmg number problems, mdum@mﬂbplmhommddwwom

\ e )

Recall and, use multiplication facts for o4 " ok
the 2. 3. .. 5. 8 and, IO times tables. and v odiiin, i .
0 4 8 12
multiply multiples of 10. . . i i
SB008 GBBE T I"“
by o digib Example
(Gridh method) 43x55
Conhnuebouserepeut@d;addihmomnumb@hm N 40“003
caleulate multiplication facts. 51200 | 15| =215
/U%ﬂweﬁcpﬂndedwriﬁﬂnmeihodfooaluﬂuteTOxO HTOo \
Exeplainy tha insthis method, we work vert 23
instead, of horizontally ands we begin with the, ones column 2 4 (3x8)
4 8 0 (60=38)
5 0 4
- ' J
/ or modelling (L R )

How much does Jack weigh?

Chris

Jack ‘ ‘

2w 42— 4
\ Jack weighs &4 kilograms. /

Roger is laying tiles.
He has 84 tiles altogether.

How many complete rows of
tiles can he make?

MO.SW‘H/Uanﬁiphmhom- see
NCETM website for more, ecamples




Pupils should, be tauight tor

. RecalexdusediMsiom}m:t&}onUw& L. and, 8 times tables
wnittery methods:
oSolM@px\oblm&mdudmg number- problems, mmegnudhphmhommddMsm

1 2 3 4 5 8 T 8
2[._ 5 3 = 8 Jump jumps  jumps jumps jumps jumps 1“0""'25 jumps
of3 of 3 of 3 of3 of 3 of 3 of 3

flow many thress i 2L AN ANAY AAY A/ AVAN

0 3 6 9 12 15 18 21 24

-3 -3 -3 =3 285 =3 -3 43
Hour many groups of three iny 2.7 0 3 6 9 12 15 18 21 24
Dinision using partitioning 69:3-(60+9):3
V\/hui/l&60dimded/b)9/3? (20) 220 +3
Hour maruy are left? (4 .23
Cmqb&dinidedbg3?
What is 9 dinvided by 37 (3)
Add 20 and 3
Dintston using the A 92-4.
s b possible to make [0 groups. of four? (yes: L x 10 = .0) 2 3
Ts i possible to make, 20 groups of .7 (yes) 4[5 2]
Is b possible to- make 30 groups of L.? (no) 8 0|20=4
We started, with: 32. we subtrach the, 20 groups of four. which, makes 80. 1 2
How many are lefs? (12) 1 2| 3xa
Howmang/times«oan:L be, disided, into- 127 (3) 0
We subtrach 12 from 2. Ask: How many are, Left? (0)
DM&omu&ng,ﬂ\eofor\muLwNﬂien:mﬁihod; T O
Hour threes in 727 2 4
Th@onmmusbb@wmtﬂhpleo&|0.(20ﬂumwpal&60uﬂﬂm|0mnaﬂng) 3|7 12

We write the answer 20 abowve irv the tens column.
Wewriteﬂ\eremmning;m as one ter (1) U\;ﬂ\eon.e&oolummtomukea;’w’wbo({lm ones remaining.
Hourmanq,ﬂ'\mmm? (L_) We write the: ansurer [, abose inv the ones column.

M The following problems can be solved by using the calculation 8 = 2. True or false?

Oﬁter‘é/ uv dLM{BLOW - See There are 2 bags of bread rolls that have 8 rolls in each bag. How many rolls are
there altogether?

NCETM web&ib l:o{\ more W A boat holds 2 people. How many boats are needed for 8 people?
| have 8 pencils and give 2 pencils to each person. How many people receive
pencils?

| have 8 pencils and give 2 away. How many do | have left?



